4 дивизион
	п/п
	Название команды
	1 раунд
	2 раунд
	3 раунд
	Итог

	1
	Легион
	0
	0
	0
	-3

	
	Бенгальские тигры
	1
	1
	1
	+3

	2
	Легион
	0
	0/1
	0
	-2

	
	2×2
	1
	1/0
	1
	+2

	3
	2×2
	1
	1
	1
	+3

	
	Бенгальские тигры
	0
	0
	0
	-3

	4
	Легион
	0
	0
	1
	-1

	
	Бенгальские тигры
	1
	1
	0
	+1

	5
	Легион
	0
	0
	0
	-3

	
	2×2
	1
	1
	1
	+3

	6
	2×2
	1
	1
	1
	+3

	
	Бенгальские тигры
	0
	0
	0
	-3

	Результаты

	
	2×2
	1 (+2), 1(+3), 1(+3), 1(+3) = 4(+11)
	1 МЕСТО

	
	Бенгальские тигры
	1(+3), 0(-3), 1(+1), 0 (-3) = 2 (-2)
	2 МЕСТО

	
	Легион
	0(-3), 0(-2), 0(-1), 0 (-3) = 0 (-9)
	3 МЕСТО


2 дивизион
	п/п
	Название команды
	1 раунд
	2 раунд
	3 раунд
	4 раунд
	5 раунд
	Итог

	1
	Сборная
	0
	0
	0
	0
	0
	0(-3)

	
	MadBalls
	1
	1
	1
	0
	0
	1(+3)

	2
	Свободные художники
	0
	0
	1
	1
	1
	1 (+1)

	
	MadBalls
	1
	1
	0
	0
	0
	0 (-1)

	3
	Сборная
	0
	0
	0
	-
	-
	0(-3)

	
	Свободные художники
	1
	1
	1
	-
	-
	1(+3)


	4
	Сборная
	1
	1
	0
	0
	1
	1(+1)

	
	MadBalls
	0
	0
	1
	1
	0
	0(-1)

	5
	Свободные художники
	1
	1
	1
	-
	-
	1(+3)

	
	MadBalls
	0
	0
	0
	-
	-
	0(-3)

	6
	Сборная
	0
	0
	0
	-
	-
	1(+3)

	
	Свободные художники
	1
	1
	1
	-
	-
	0(-3)

	
	Сборная
	0
	0
	0
	0
	-
	1(+3)

	
	Свободные художники
	0
	1
	1
	1
	-
	0(-3)

	Результаты

	
	Свободные художники
	1 (+1), 1 (+3), 1(+3), 1(+3),  = 4 (+10)
	1 МЕСТО

	
	Сборная
	0 (-3), 0 (-3), 1 (+1), 0 (-3) = 1 (-8)
	2 МЕСТО

	
	MadBalls
	-
	3 МЕСТО


3 дивизион

	п/п
	Название команды
	1 раунд
	2 раунд
	3 раунд
	4 раунд
	5 раунд
	Итог

	1
	Борис Бритва 
	1
	1
	
	
	
	1(+2)

	
	ГОСТ
	0
	0
	
	
	
	0(-2)

	2
	Маяк
	0
	0
	Х
	
	0
	0(-2)

	
	Ядерный централ
	0
	1
	
	Х
	1
	1(+2)

	3
	Витязи 
	0
	0
	
	
	
	0(-2)

	
	Гетто
	1
	1
	
	
	
	1(+2)

	4
	Цитрамон-П
	1
	0
	0
	
	
	0(-1)

	
	Варяги
	0
	1
	1
	
	
	1(+1)

	5
	Борис Бритва
	1
	1
	
	
	
	1(+2)

	
	Маяк
	0
	0
	
	
	
	0(-2)

	6
	ГОСТ
	0
	0
	
	
	
	0(-2)

	
	Ядерный Централ
	1
	1
	
	
	
	1(+2)

	7
	Витязи
	1
	1
	
	
	
	1(+2)

	
	Цитрамон-П
	0
	0
	
	
	
	0(-2)

	8
	Гетто
	1
	1
	
	
	
	1(+2)

	
	Варяги
	0
	0
	
	
	
	0(-2)

	9
	Борис Бритва
	0
	1
	0
	
	
	0(-1)

	
	Ядерный централ
	1
	0
	1
	
	
	0(+1)

	10
	Маяк
	0
	1
	1
	
	
	1(+2)

	
	ГОСТ
	0
	0
	0
	
	
	0(-2)

	11
	Витязи
	0
	1
	1
	
	
	1(+1)

	
	Варяги
	1
	0
	0
	
	
	0(-1)

	12
	Гетто
	1
	1
	
	
	
	1(+2)

	
	Цитрамон-П
	0
	0
	
	
	
	0(-2)

	13
	Борис Бритва
	0
	0
	
	
	
	0(-2)

	
	Гетто
	1
	1
	
	
	
	1(+2)

	14
	Ядерный централ
	1
	1
	
	
	
	1(+2)

	
	Цитрамон-П
	0
	0
	
	
	
	0(-2)

	15
	Маяк
	0
	0
	
	
	
	0(-2)

	
	Витязи
	1
	1
	
	
	
	1(+2)

	16
	ГОСТ
	0
	Х
	
	0
	
	0(-2)

	
	Варяги
	1
	
	Х
	1
	
	1(+2)

	17
	Ядерный централ
	1
	0
	0
	1
	
	1(+1)

	
	Витязи
	0
	1
	0
	1
	
	0(-1)

	18
	Борис Бритва
	1
	0
	0
	
	
	0(-1)

	
	Варяги
	0
	1
	1
	
	
	1(+1)

	19
	Маяк
	0
	0
	0
	
	
	0(-2)

	
	Варяги
	1
	0
	1
	
	
	1(+2)

	20
	Витязи
	0
	1
	0
	1
	
	1(+1)

	
	ГОСТ
	1
	0
	0
	0
	
	0(-1)

	21
	Борис Бритва
	1
	1
	
	
	
	1(+2)

	
	Цитрамон-П
	0
	0
	
	
	
	0(-2)

	22
	Ядерный централ
	0
	1
	
	1
	
	1(+1)

	
	Гетто
	1
	0
	Х
	0
	
	0(-1)

	23
	Маяк
	-
	-
	
	
	
	0(-2)

	
	Цитрамон-П
	-
	-
	
	
	
	1(+2)

	

	24
	Маяк
	-
	-
	
	
	
	0(-2)

	
	Гетто
	-
	-
	
	
	
	1(+2)

	25
	ГОСТ
	0
	0
	
	
	
	0(-2)

	
	Гетто
	1
	1
	
	
	
	1(+2)

	26
	Ядерный централ
	0
	0
	
	
	
	0(-2)

	
	Варяги
	1
	1
	
	
	
	1(+2)

	27
	ГОСТ
	0
	1
	0
	1
	
	1(0)

	
	Цитрамон-П
	1
	0
	0
	1
	
	1(0)

	28
	Борис Бритва
	0
	1
	0
	
	
	0(-1)

	
	Витязи
	1
	0
	1
	
	
	1(+1)

	Результаты

	п/п
	Название команды
	1
	2
	3
	4
	5
	6
	7
	Итог
	Место

	1
	Борис Бритва
	1(+2)
	1(+2)
	0(-1)
	0(-2)
	0(-1)
	1(+2)
	0(-1)
	3(+1)
	V

	2
	ГОСТ
	0(-2)
	0(-2)
	0(-2)
	0(-2)
	0(-1)
	0(-2)
	1(0)
	1(-11)
	VIII

	3
	Маяк
	0(-2)
	0(-2)
	1(+2)
	0(-2)
	0(-2)
	0(-2)
	0(-2)
	1(-10)
	VII

	4
	Ядерный централ
	1(+2)
	1(+2)
	1(+1)
	1(+2)
	1(+1)
	1(+1)
	0(-2)
	6(+7)
	II

	5
	Витязи
	0(-2)
	1(+2)
	1(+1)
	1(+2)
	0(-1)
	1(+1)
	1(+1)
	5(+4)
	IV

	6
	Гетто
	1(+2)
	1(+2)
	1(+2)
	1(+2)
	0(-1)
	1(+2)
	1(+2)
	6(+11)
	I

	7
	Цитрамон-П
	0(-1)
	0(-2)
	0(-2)
	0(-2)
	0(-2)
	1(+2)
	1(0)
	2(-7)
	VI

	8
	Варяги
	1(+1)
	0(-2)
	0(-1)
	1(+2)
	1(+1)
	1(+2)
	1(+2)
	5(+5)
	III


